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® V2-1<+3-1 @ Vi8+2> V15+2
@—\/5>—\/5

® —VB - (< VB) = VB + vB <0
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e 429

[
H =
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=
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AZ A=H?

® 40 @60 ® 70 @ 90 ® 100

B )

(4x + B)(Cx +3) = 4Cx? + (124 BC)x + 3B
4C=20, .C=5

12+ BC =22, .B=2
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27. oS oadAo] x+3y S A4 7HE ), o] tha4]
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V0.0048 = /== = =%
0.00 10000 100
4
b= 10
4 9
abZQXm—%




35. The fEiskel A ol £4) g A Tatelet.

\/%x4\/6+\/§
2 1
:ﬁle\/gx%...@
1
=4\/§x% S ©
2
=43 ©
> =
> &HE ©

2v3 . V3
24\/§X7§ - ©(0)
46 o




36. _N—%%+5@+§«5:M+M7}@%@ﬂ1, 2a+b 9

A2 (Ha, b+ 799)

®-14 @-2 00 @ ® 4
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o] gt& Fotofat,

ax®> - 19x+b = (x-5) (3x —4) = 3x% - 19x + 20
a=3,b=20
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m-1=A, n—1=B& |gk}A
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—A2-B>=(A+B)(A-B)
=m-14+n-1)(m-1-n+1)
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45. 5x+2<4x+ 5013 xE A A off, ohg oA A S 2

X -6x+5=0

D x=1,x=3 @ x=1,x=5 @x:l

@ x=2 x=3 ® x=2 x=5

B

5x+2<4x+5 oA x <3 ot

mrahbA x 9] 3F2 1, 2, 30t}
P2-6x+5=0=TZ5}= 1o e x =1, x =50|BE
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x=pE YA 2p? - 2p-1=0,2p>-2p=1°|BEZ
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x=q¢E Yot 24> -2g-1=0,2¢°> -2g=1°]E2
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whehA
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AT, OIARAN A2 0x-2=0 9 F 2L m 0ol G Ul m’ +n® I

m+n=2, mn=-2
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m3 +n® = (m+ n)(m? + n?) — mn(m + n)
—2x8—(-2x2) =20
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7t2, A2 207t 2+ 9 em, 6 cm Q1 2ALZH
Lefe] FolE oy 1 o] ¥
Lo 27+9] 3to] 12em? 7} H =
Sttt @2l HEO] Z29
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@ 2cm EET7cem
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y=x2-2x-3 9
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iii) 0 =x*-2x-3
= (x-3)(x+1)
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y=(x-272-1

apq:lXZX(—l)Z—Q




